MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603
PRODUCT CONTROL DIVISION MIAML FLORIDA 33130-1563

(305)375-2901 FAX (305) 375-2908
NOTICE OF ACCEPTANCE (NOA) www.buldingcodeonline.com

C. P. Loewen Enterprises
77 P.T.H. 52 West, Box 2260
Steinbach, Manitoba, Canada R2G 1B2

ScopE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami-Dade County Product Control Division
and accepted by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas
where allowed by the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Outswing Aluminum Clad Wood Casement Window — L.M.L

APPROVAL DOCUMENT: Drawing No. 1096, titled “Atuminum Clad Wood Impact Outswing Casement
Windows”, sheets 1 through 6 of 6, dated 02/01/02 with revision #A4 dated 09/11/03, prepared by W.W.
Schaefer Engineering & Consulting, P.A., signed and sealed by Warren W. Schaefer, P.E., bearing the
Miami-Dade County Product Control Renewal stamp with the Notice of Acceptance number and expiration
date by the Miami-Dade County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved”, unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur afier the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed
by the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then
it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA renews NOA # 03-0929.02 and consists of this page 1 and evidence page E-1, as well as approval
document mentioned above.

The submitted documentation was reviewed by Manuel Perez, P.E.

NOA No 07-0130.19

Expiration Date: June 27, 2012
Approval Date: March 22, 2007
Page 1




C. P. Loewen Enterprises

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS

1. Manufacturer's die drawings and sections.

2. Drawing No 1096, Sheets 1 through 6 of 6, titled “Aluminum Clad Wood Impact
Outswing Casement Windows”, dated 02/01/02 with revision #A4 dated 09/11/03,
prepared by W.W. Schaefer Engineering & Consulting, P.A,, signed and sealed by
Warren W. Schaefer, P.E.

B. TESTS
1. Test reports on 1) Air Infiltration Test, per FBC, TAS 202-94
2) Uniform Static Air Pressure Test, Loading per FBC TAS 202-94
3) Water Resistance Test, per FBC, TAS 202-94
4) Large Missile Impact Test per FBC, TAS 201-94
5) Forced Entry Test, per FBC 2411.3.2.1, and TAS 202-94
6) Cyclic Wind Pressure Loading per FBC, TAS 203-94
along with marked-up drawings and installation diagram of an aluminum clad wood
impact outswing casement window, prepared by Hurricane Test Laboratory, Inc., Test
Report No. HTL-0286-1222-01, dated 12/6/01, signed and sealed by Vinu Abraham,
P.E. (Submitted under NOA #02-0308.08)

C. CALCULATIONS

1. Certification of anchor calculations complying with FBC-2004, prepared by W.W
Schaefer Engineering & Consulting, dated 01/22/07, signed and sealed by Warren W.
Schaefer, P.E.
Complies with ASTM E1300-98
Anchor Calculations and structural analysis, prepared by W.W Schaefer Engineering
& Consulting, dated 2/12/02, signed and sealed by Warren W. Schaefer, P.E.
(Submitted under NOA #02-0308.08)

D. QUALITY ASSURANCE
1. Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 03-0417.01 issued to Cardinal LG for “Cardinal Sea-Storm

Type B” dated 05/15/03, expiring on 12/30/07.

F. STATEMENTS
1. Statement letter of conformance, dated January 22, 2007, signed and sealed by Warren

W. Schaefer, P.E.

Lol o

G. OTHER
1. Notice of Acceptance No. 03-0929.02, issued to C. P. Loewen Enterprises for their
Aluminum Clad Wood Impact Outswing Casement Window, approved 27/02
and expiring on 06/27/07. AN [

Manuel Perez,
Product Control Exdmin
NOA No 07-0130719

Expiration Date: June 27, 2012
Approval Date: March 22, 2007



—

CHECKED BY:

WW.S.

PLOT: DA

TE:
02/01/02

K.P.S. ] 05/11/03
K.P.S. | 09/11/03
KPS {09/11/03

REVISION  DESCRIPTION

Al JADDED SHEET 6

A2 |ADDED TRANSOM ELEVATIONS
A3 |ADDED TRANSOM SECTIONS

NO.

A4 [ADDED ALT. MULLION FASTENERS| K.P.S.]09/11/03

C.P. LOEWEN ENTERPRISES

77 PT.H 52 WEST, BOX 2260
STEINBACH, MB  CANADA ROA 2A0

MANUFACTURER

204-326-6446

ALUMINUM CLAD WOOD IMPACT OUTSWING CASEMENT WINDOWS

DRAWING TITLE
CONSULTANTS

& CONSULTING, P.A.

8895 N. MILITARY TRAIL; SUITE C~204

PALM BEACH GARDENS, fL 33410
PHONE: 561~-775-4902 FAX: 561-775~4903

SEE "CORNER CONSTRUCTION” . FIN MOUNT SHOWN; . i
REQU'REMENTS ON SHEET 2 [~ 35 7/1 6 MAX~ F-W- I SHEAR SCREW MOLjNT i 35 7/1 6 MAX' F'W’
@ ALSO APPUICABLE
4 ‘ 4 ‘\ 4
. - \/“ ] Y - ! i | . 0 )
- N\ : g p=—— 3 1 " =
W rmm—— L e .| . =T
: Q\Q_/' f N d  sam s > ! q y > |2
\IJ 1 i o)) M o))
, 2 I VAN 29 7/16 1
33/16° J 29 7/16” / b °l HINGE S ] Vo / 74——7
- . 29 7/16 ' D.L.O. ) .
MAX. p.LO. | S D.L.O. | w0 % / I &=
0 x —~ L \g NS
' 4 // h 5 VN 7 | 2o / i1 =
| 0 C2YTI / [l /D e Hi 2%
@ > 7 > @ " AN yIiIndnd & ° | SHI-HEDYER i ~°
. . . I .
/ ¢ S T L3 of LOCKING = Lo \2AL/ :
® 5w N 1L HarowaRE | ] - / 1
e LOCKING | | e > O / | % S I. .
HINGE 6 : < = 3 s , g
HARDWARE | | % = . . (20 | : o LD w<
(BUTT HINGES ALWAYS K | 3 . © ® SNUBBER , w e S >=
R flte 5 2.0 | RN I =3
\ . gy — 0 . O
o OO I SO o 8 e A Bl R SO |
6 1/2" MAX. 0.C. SEE "FRAME | |5, % & = 12 MAX 0.C. SEE O = g WAL 00, Set et |||
" oc wax! || | anciior REQUREMENTS | || [ 2 T "FRAME_ANCHOR I =cz x ¢ ANCHO?CPEOUIREMEIZATS |
«|| | TABLE" ON THIS SHEET | Il.| — S "~ 2?%’7?“552%“8%" I i =3 | | aele” on THIS sheer |
FOR OTHER SCREW H|e< il FO i
REQUIREMENTS ° ‘ = | OTHER SCREW / T = REQURENENTS e | {
AN Al | ol REQUIREMENTS. / . 5| REQUIREMENTS. — b
3 3/16" // B ¥ B N // . R
MAX. . / 4 NN % e / N S
l B AL |/ HiNce &, ANVE 4 N m3
f 7/ — == /4 — 4" MAX = }
[ . . [ . | I l
4 ,- q f q
6" MAX. —=|
START AL FIN : . - START ALL FIN \
SCREWS DIRECTLY 6 1/2 0.C. MAX. ?:EAMRO%%}T?E%VHOM%%NT TYP. SCREWS DIRECTLY 6 1/2" 0.C. MAX.
AT CORNERS —~—— 35 7/16" MAX. FW. —={  ALSO APPLICABLE EXTERIOR ELEVATION AT CORNERS e
SINGLE OPERABLE CASEMENT EXTERIOR ELEVATION
EXTERIOR ELEVATION SCALE: 3/4"=1"-0" SINGLE OPERAB"LE, Cf\SEMENT
SINGLE _OPERABLE CASEMENT (SHEAR SCREW MOUNT) SCALE: 3/4=1'-0
( "IN MOUNT ALLOWABLE DESIGN LOAD (NAIL FIN MOUNT)
NAIL FIN MOUNT SHOWN:
SEE OTHER ELEVATION FOR POSITIVE NEGATIVE BUTT HINGE REQUIREMENT
APPLICABLE SHEAR SCREW MOUNT) 65 PSF 70 PSF WINDOW MIN. NUMBER
HEIGHT OF HINGES
FRAME ANCHOR REQUIREMENTS TABLE 22" 10 72" 3
. * SHEAR SCREWS "
ESS THAN 42 2
GENERAL NOTES OPENING TYPE JAMB TO OPENING MINIMUM MINIMUM LOCK & SNUBBER REQUIREMENTS L
1. THESE WINDOW STSTEMS HAVE BEEN TESTED. ANALYZE (SUBSTRATE) FASTENER TYPE EMBECMENT | EDGE DIST. WINDO NUMBER OFA,\ESUTH LOCKS
. s ALYZED AND APPROVED FOR T »
DESIGN PRESSURES NOT TO EXCEED THOSE SHOWN IN THE "ALLOWABLE DESIGN 2X_ WOOD FRAME OR BUCK NO. 10 SMS SCREW 1174 3/4 INDOW HEIGHT TRUTH SNUBBERS REQUIRED PRODUCT REVISED
LOADS” TABLE. CMU,/CONCRETE 3/16" CONCRETE SCREWS| 1 174" | 1 7/8" 557 10 72" 4 85 complylng with the Fluride
2. BUCKING, OPENINGS & BUCKING FASTENERS MUST BE PROPERLY DESIGNED & mm
INSTALLED TO TRANSFER WIND LOADS TO THE STRUCTURE. FIN SCREWS 39" T0 54" 3 Accoptance No 03 -0429.02
3. ALL HARDWARE & FASTENERS SHALL BE ) " o
& MAY NOT VARY UNLESS SPECIFICALLY r'uNENAT(I:grggc?AgﬁErﬂg%RTA}:vElags?RAW‘NGS 2X_ WOOD FRAME OR BUCKI NO. 8 SMS SCREW l 1 3/8 J 1/2 20" TO 38" 2 <
e B L e IE (I IR 1 o SoWEeL Ml T SAMS /B IO TPTONS, UT | |-e 1
TESTING IN CONFORMANCE WITH FLORIDA BUILDING CODE PROTOCOLS TAS—201. KWIK-CON Il OR POWERS RAWL TAPPER (HARDENED STEEL OR SS.).

202 & 203 FOR LARGE MISSILE IMPACT WINDOWS.

S. THESE WINDOW SYSTEMS HAVE BEEN DESIGNED IN ACCORDANCE WITH THE
FLORIDA BUILDING CODE (F.B.C.) FOR HiGH VELOCITY HURRICANE ZONE AREAS.

- IMPACT SHUTTERS ARE NOT REQUIRED WITH THESE WINDOWS.

- ALL ANCHORS SHALL BE INSTALLED AS SPECIFIED ON THESE DRAWINGS. SPECIFIED
EMBEDMENT TO BASE M/}TERIAL SHALL BE BEYOND WALL FINISH OR STUCCO.

~ o

* ANCHOR NOTE: FRAME MAY BE EITHER DIRECT MOUN

MOUNTED OR MOUNTED WITH SPACER, 3/16" CONC
EMBED REQUIREMENTS. PROPER MATERIAL SHALL B

NAIL FIN INTO 2X4 BUCK, NO. .
RETE SCREWS SHALL BE USED. SEE "ANCHOR REQUIREMENTS TABLE" FOR
E USED BETWEEN ALL DISIMILAR MATERIALS (BLOCK/CONCRETE & ALUMINUM).

W. W. SCHAEFER ENGINEERING

o
Py

CERTIFICATION
SEP 192003

WARREN W. SCHAEFER, P.E.
P.E/NO. 44135 _

DRAWING NO

. R

>3




—

ORAWN BY: CHECKED B‘Y:
SEE “CORNER JCF. WS,
REQUIREVENTS ON e | o
. . " MAX. F.W. : . MAX. F.W.
=— 35 7/16" MAX. FW. ——i=— 35 7/16" MAX. F.W. —=ITHiS SHEET e 35 7/16" MAX. F.W. —mfee——o oEn APROUAL le— 35 7/16" MAX. F.W. —ofa— peR APPROVAL ] [
ls" 4" 4" 3" \ ¢ Is" 4" 4" 3" ¢ ¢ . - 6 1/2,,% g
} [ L | | / }‘__‘ | 1 . l — 3 T 0 3 . T | = ﬂ by
o ==t IR =] T+ wa( = \ — — — = % — = =
T \\ T NNV X # "‘ | RN Ir—_FNCTURE WINDOW _:H—‘ z
ma ADDITIONAL FRAME T | +H—LADDITIONAL FRAME | X ONE (1) ADDITIONAL /] H MUST USE 35mm |H g
a S/ it . FASTENER EACH [°| a // / ! | | FASTENER EACH p FIN_SCREW AT EACH |° JAMB ON ALL SIDES z
// SIDE OF MULLION / | SIDE OF MULLION . MULLION END WHEN MULLED l 2
i : : mp{*" END) / : | (P& EnD) / | : // | CASEENT WO, “'I 5
T / o (5 T T / d N T AN LN | g
&/ // | MEIINN% l' . » CARIANY // “l 3
- Tl N - | = |k | | I
T @ / 1t / N |- ° a8 b ' FIXED CASEMENT H - At x N\ ° ” ! / ”|I £
> / I > / | i WINDOW (SEE x =1 AN PICTURE WINDOW (SEE '
3 I NS ¥ I DRAWING NO. 1095 I = <l “ DRAWING NO. 1094 H [' "
. A0 i . i UNFI?ER \S/AEEEIBC')A‘;E ‘ Q © : UNDER SEPERATE ] g 2
<L I TYP. FRAME SCREW ~ TYP. FRAME SCREW i APPRO ~ | / APPROVAL FOR TH & o
N I I I \ 41k 12" MAX O.C. SEE/ o ™~ ol 12" MAX O.C. SEE A , DErA|LS) H '; > h TYP. #8 FIN SCREW AT |e ” DETA”_S) ”l Z mg<
o woz N T1F| "FRAME ANCHOR = "FRAME_ANCHOR N | ~ o |{f| BACH CORNER & 6 1/2° 1) 2| g2
i || EaUELE e cEaugcnens v ||| ] e I 5| £aze
L N I1I} ON SHEET 1 FOR T ? 7| ON SHEET 1 FOR ' l | 1| TABLE” ON SHEET 1 ! S| E .3
. It} | OTHER SCREW OTHER SCREW | ! / “ : | | FOR OTHER SCREW “ ! ”] b 5{735 l
// N 11l REQUﬁEMENTS. / LR REOUIREMENTS.\ i // | i REQUBEMENTS // | sl =2 S
a ylp a - a yip i | b o W o
BN BV B WARN B =S M=
L Loy | HLZ LN L ) | |1}
. Je=—a I 1 1 171 —— ! I e e = _— e 3 ag]
f ‘ ii\‘ri t = 7 1 — | — . e T e | Qe O 2
o m~ J
2 3/4" X 10" X 26 GA. 6" MAX. —=f i START ALL FIN = |2 —
6" MAX, —=i ‘~ F‘LAT/E ACROSS MULLION TYP. '-‘ 49 1/4" MAX. ——= SCREWS DIRECTLY 49 1/4" MAX < g 7
. ENDS:  SECURE TO y o ¥ s AT CORNERS . Q|2
JAMBS WITH MIN. (4) 2 3/4" X 10" X 26 GA. » 2 3/4" X 10" X 26 GA g =
1/2" X 16 GA. STAPLES PLATE ACROSS MULLION 61/27 0.C. MAX. — PLATE ACROSS MULLION 8 3
EACH SIDE OF NuLLION N pEcURE TC(’4) _ e ENDS: * SECURE 10 § 2 3
; CJAMBS WITH MIN. (4 ® Qo
EXTERIOR ELEVATION 1/2" X 16 GA. STAPLES - 1/2" X 16 GA. STEAP)LES o G<cal
MULTIPLE OPERABLE CASEMENTS EACH SIDE OF MULL EEC);;E';I,SRL E/LE\/ATION ENT EXT%%FO F%IDEE LOEFV X%L(SISN (5) g ;dz
MAX. FOUR WINDOWS MAY BE COMBINED MULTIPL BLE/FIXED CASEMENTS ZATERIVR ELEVAIION LY gy
( NTS. ) MAX. FOUR WINDOWS MAY BE COMBINED MULTIPLE OPERABLE CASEMENTS/PICTURE WINDOWS 3 xZ éé,,
= Ll _J o
SHEAR SCREW MOUNT CONDITION SHOWN: (ANY COMBINATION) (MAX. FOUR WINDOWS MAY BE COMBINED) S| 53 gi?
SEE OPERABLE CASEMENT/PICTURE WINDOW NTS, (ANY COMBINATION) L3 | 2 238
ELEVATION FOR APPLICABLE FIN MOUNT CONDITION SHEAR SCREW MOUNT CONDITION SHOWN: NT.S. E< |30 202
(FOR DETAIL NOT SHOWN SEE ELEVATIONS ON SHEET 1) SEE OPERABLE CASEMENT/PICTURE WINDOW FIN MOUNT CONDITION SHOWN: § g?_“?’ g&g
| ELEVATION FOR APPLICABLE FIN MOUNT CONDITION SEE OPERABLE/FIXED CASEMENT g 5 ¢
ORNER CONSTRUCTION: (FOR DETAIL NOT SHOWN SEE ELEVATIONS ON SHEET 1) | ELEVATION FOR APPLICABLE SHEAR y
S5 OIS o, e £ [0 T 0 0 Moy SCREW MOUNT CONDITION N d
CLADDING IS SNAPPED ONTO MEMBER /AND FASTENED USING 16 GA. X 3/4” BRAD (FOR DETAIL NOT SHOWN SEE ELEVATIONS ON SHEET 1) S 0
NAILS 1° FROM CORNERS & 6" 0.C. THEN SEALED WITH TREMFLEX 834. o g;
A SRR MBS S0, S R i e,
" 1 18 CA. = TTvs pROBUCT REVISED o A
Ohic e it i AL SO S Gl T - iy
MITERED, GASKETED WITH A CLOSED CELL FOAM 1/16" THICK THEN BUTTED Buiding -0929.02 S ze
TOGETHER AND MECHANICALLY FASTENED USING ONE (1) #6 x 1 1/2" SM.S. Ne %
SCREW PER CORNER. TREMFLEX B34 IS THEN APPLIED TO THE CLAD SEAM. ) é
DRAWING NO. |REV.
1096 | A
SHEET NO.
2 o 6




DRAWN BY: CHECKED BY:
= 35 T/18T WA B ."i 3% T/18T MAX PN MULTIPLE FIXED WINDOWS e o
MULTIPLE FIXED WINDOWS 1 o — e — — —.
= = = = = (UP TO 3) MAY BE STACKED = = = = o (UP TO 3) MAY BE STACKED u
rl"_‘ —_— ABOVE. CASEMENT WINDOW . |‘[—‘ CTURE. OF FIXEDﬁ ABOVE CASEMENT WINDOW 4
/
| 1l casement winoow 7] -
| \ FIXED CASEMENT OR a l (SEE DRAWING NO.
f&J PICTURE WINDOW (SEE H E:&J “ 1094 OR 1095 UNDER H .
- \DRAW'1NO% P OR | i | SEPERATE APPRO)VALS | :
T & =& FOR DETAILS 2
ks | SEPERATE APP ROVALS | 2% I (PICTURE WINDOW SHOWN) 1 8
I T 3
uo FOR DETALS) ‘ N § | H PICTURE WINDOW H I g
=g ‘(FIXED CASEMENT SHOWN) | l SEEE H “ MUST USE 35mm “ H ¢
&= B O :
S | g o WHEN MTMNJ-:LD S0 2
zd | za ]1 | | opERABLE [ ]i
= l = CASEMENT WINDOW.
2 3/4" X 10" X 26 GA. SIMILAR 2 3/4" X 10" X 26 GA. . . wn
PLATE ACROSS MULLION —u- // ll- . PLAT/E ACROSS MULLION H' N // “ 3 o2
ENDS:  SECURE TO \ L_ 5 e ENDS: SECURE TO \ 5 21wl
JAMBS WITH MIN. (4) [— — 01— — — 4 JAMBS WITH MIN. (4) JIL . > e 1/4" = IR
1/2" X 16 GA. STAPLES _;—_ ————— . 1/2" X 16 GA. STAPLES l — . — - & <&
EACH SIDE OF MULLION : 4 EACH SIDE OF MULLION 3 ~ /" z| 83¢
- AT e VA 2| £n2°
T 7 &35
| VRt |7 /o 2| 995¢
’ T T © Y
/ / | / | _L 2 %32_3
T / (iR / ||| 8.1/2 =l 25"
a O ~Z
T a // ] . of ! o “E
- il - i 5 [
E: 4 | 3 4 | Z |
. ! W I a 2
= ‘ i N N i § 2 53
< i S o| TYP. #8 SCREW AT EACH &, a3k
N EP FRAME SCREW 12" | | I CORNER & 6 1/2" MAX. || | £5eR:
MAX 0.C. SEE "FRAME ||| 12" OC. 1| | 0.C. SEE "FRAME IS o | &% ae?
ANCHOR REQUIREMENTS | | MAX. | | ANCHOR REQURENENTS | s | 8¢ g4
TABLE” ON SHEET 1 . £ &5,
~+| FOR OTHER SCREW // Ti— FOR OTHER SCREW | 2| E3 532
REQUIREMENTS. / | REQUIREMENTS, — ] z | 93]
° AN § 1 // \ i PRODUCT SRENEWE% s '_J_<J g§8 zgi
Y 8 the Flo - = .gé.ﬁ
Nt | ' ARy , ‘ it
_'__5_4—::—' i, 1 4" MAX. == , 017 |5 ‘ 8= g
| | 0 . . 0 . =
6" MAX. f 6 1/2" 0.C.. N\ G
— START ALL FIN 8 e N, e
(TYP.) F— SCREWS DIRECTLY MAX. (TYP.) Lo z| & (g8
__EXIERIOR ELEVATION. AT CORNERS EXTERIOR ELEVATION " reofucTREVisED 8 g &
SINGLE OPERABLE CASEMENT WITH TRANSOM : SINGLE OPERABLE CASEMENT WITH TRANSOM -mﬁmhm 9 ey Rl
SCALE: 3/4"=1"-0" SCALE: 3/4"=1'-0" Ascepiaisce No.03- 09, ;02 & ”“‘\\R\;z P
(SHEAR SCREW MOUNT) (NAIL FIN MOUNT) , g e M\E
SHEAR SCREW MOUNT CONDITION SHOWN: FIN MOUNT CONDITION SHOWN: SEE OTHER ¥ <
SEE OTHER TRANSOM UNIT ELEVATION FOR TRANSOM UNIT ELEVATION FOR APPLICABLE o [122
APPLICABLE FIN MOUNT CONDITION SHEAR SCREW MOUNT CONDITION 1096 A
(FOR DETAIL NOT SHOWN SEE ELEVATIONS ON SHEET 1) (FOR DETAIL NOT SHOWN SEE ELEVATIONS ON SHEET 1) <hEET NO.
3 o B

_



o N DRAWN BY:  |CRECKED BY:
15 + (TYP.) CONTINUOUS WOOD MEMBER ,~3/16" CONCRETE SCREW TO ICF. s
FRAME FASTENER : LESS IN SIZE THAN A REPLACE NO. 10 SCREWS (REF.[fPe%_,— [oe =
(SEE SHEET 1) BUCK & BUCK 2X_ BUCK TO BE SHEET 1 FOR LOCATIONS AND
;o ATTACHMENT BY OTHERS FRAVE. FASTENER MIN. 3 1/2" DEEP. INSTALLATION REQUIREMENTS) |l
e e (SEE SHEET 1) BUCK & BUCK i
AT By e TP : ! o ATTACHMENT BY OTHERS
R N T T SRR A SEALANT BY
, OTHERS—
—1/4" = . _\ AV .
1/4" SHIM g
SEALANT BY OTHERS MAX. g
(BEHIND & AT CORNE;<' 8
OF FIN) ? 8
18 |z
@x
g
2
B <
< EXTERIOR | WS
SECTION /& w EXTERIOR - | g5%,
STAE 172 FOLL &) = OPTIORAL FIN DIRECT MOUNT DETAIL gl ERes
~ —
SEE GLAZING DETAIL L . MOUNT DETAIL HEAD DETAIL SHOWN; OTHER JAMBS SIMILAR | &34
ON SHEET 5 . " HEAD DETAIL SHOWN; SIDES AND SILL SIMILAR (SEE SECTIONS FOR DETAIL NOT SHOWN) Sl z= o
16Y17 : (SEE SECTIONS FOR DETAIL NOT SHOWN) o %g%;
EXTERIOR IL4 & {6)X17) FRAME FASTENER Z) 9 -&
\ 5 /‘@ (SEE SHEET 1) 5l =g
' . = agp
4 v oz
1/4" —= FRAME WIDTH (F.W.) 1/4 e
@ 1 MAX. MAX. ol ©
=n= SHiM SHIM o E
@ It It = I
21 . -
25 L 8 o 3
qf_i 1 2| 2 :.i
ul T:.'“:’
: o b4 ©n
2 @77 TG ;! S| &g
» B (@] . (nd*.
SEALANT BY TAX SEE GLAZING DETAIL SIS : S| xE 5L,
OTHERS ‘ ON SHEET 5 DS R\ xeror]| 5 | &3 8%
v v = 1
'q DRI f_..‘.:".:‘- ';“ ‘ NP N A ”',.' q ,_'_ \ u.:_J’ %Z gsg
P I PR TR o \ 1 ~, —FRAME FASTENER = <C §88 :g_l_
SECTION /B FRAME FASTENER = © - (SEE SHEET 1) b B g 038
. SEE SHEET 1 % Z 3 =z %m._;j
SCALE: 1/2 FulL 4 ¢ ) ' A SECTION /2 : Ex ¢
@ [Ex7erioR] \. SCALE: 1/2 FULL \ 4/ \ }
5 (SAME AS SECTION C1; WITH BUTT HINGE) I o
(SEE SECTION "C1" FOR DETAIL NOT SHOWN) ||z - &8
= K 1
Sles - Ea
SECTION __/e1 SECTION /5 = RN =
SCALE: 1/2 FULL \ 4/ RN Y
SCALE: 1/2 FULL \ 4 _rrony R
6o . b
i 4
<
=
DRAWING NO. REV-
1096 [ A
SHEET NO.
4 o 6

—

[

_



—

ORAWN BY: CHECKED BY:
J.C.F. WH.S.
PLOT: DATE:
1=2 02/01/02
SEALANT BY "
OTHERS H
DOW CORNING 995 Mo D COVER T~ &
STRUCTURAL SILCONE SEALANT 7/16" 1/2" X 1" CORRUGATED °
CONTINUOUS BEAD (ALL AROUND) " " MAY OPTION TO USE FASTENER 4" OFF ENDS &
1/4" X 1/8" GLAZING TAPE ; : 2
NO. 10 X 2.5 MAX. 6" 0.C. 3
1/8" SHIM 12" CORRUGATED g
FROM CORNERS INTERIOR ; 2
> PER SIDE FASTENERS) 4" FROM g
ENDS & 12" 0.C. AT 2
EACH JAMB (MAY 2
EXTERIOR 1/2" STAGGER EACH SIDE) #
MIN. BITE ACTIVE =
18 GA. X 3/4" BRAD ACTIVE
1" FROM CORNERS & 6" 0.C. 16 GA. X 1 1/4” FINISH NAIL
| 1” FROM CORNERS & 6" 0.C. Q
= )
Q <<
a QN
Z| 0«
o~
GLAZING DETAIL —TERIOR CONTINUOUS #4mm BEAD =l a”g
7/16" CARDINAL SEASTORM TYPE "B” LAMINATED GLASS SCHNEE~MOREHEAD 7100 Z] 29x¢
(3/16” AN/0.015 PVB/0.007 PET/0.075 PVB/3/16" AN) SILICONE SEALANT LL%’ BUS3
| Wade
SILICONE SEALANT 51z S
APPLIED PRIOR TO ol BS54
MILLION COVER 2| 3x2%
SEALANT BY 2| =5
SEALANT BY SECTION /B OTHERS 2l 323
OTHERS SCALE: 1/2 FULL \5/ MULLION SEAM COVER e
AS REQUIRED FASTENER 4” OFF ENDS & -
MAX. 6" 0.C. 1/2" X_1" CORRUGATED =N
MAY OPTION TO USE 7 STATIONARY WINDOW MAY OPTION TO USE my W FASTENER 4" OFF ENDS & o "
NO. 10 X 2.5 , %/ SECTION SREF. OTHER NO. 10 X 2.5" | L \ MAX. 6" O.C. sle .8
SCREWS (IN LIEU OF ! l APPROVAL) SCREWS (IN LIEU OF | & Seb
CORRUGATED L CORRUGATED \ STATIONARY WINDOW ol Heoat
FASTENERS) 4" FROM _ N PICTURE WINDOW FASTENERS) 4" FROM ’ /_ SECTION SREF. OTHER S| &8 8
ENDS & 12" 0.C. AT >/~ ;ﬁg , MUST USE 35mm ENDS & 12” 0.C. AT >/~ \— 2 APPROVAL ol 2 .75
EACH JAMB (MAY | JAMB ON ALL SIDES EACH JAMB (MAY BICTURE WINDGW = | wgggs
STAGGER EACH SIDE) Aaat-7Irmn aHﬁNoﬁ‘éR“foiE STAGGER EACH SIDE) MUST USE 35mm 2| 85 5¢s
0 \ | | CASEMENT WINDOW. JAMB ON ALL SIDES = | wgé.;
o /7 \ WHEN MULLED 2| £2 53¢
/ ~~xJ | WITH OPERABLE BT o3 287
= — z W Z_5
/ f CASEM ->‘ ko S_ a mi‘n
= [ -
|l /117 ﬁ g §3 g“g
gl | - IF|XED o 8= x
| \
EXTERIOR L EXTERIOR L_| ¥
ud
CONTINUOUS #4mm BEAD ! CONTINUOUS #4mm BEAD ] o |
SCHNEE—-MOREHEAD 7100 SCHNEE—MOREHEAD 7100 g = |Ee
SILICONE SEALANT SILICONE SEALANT g o~ 3T
SILICONE SEALANT 14 SILICONE SEALANT 14 c e N @g
APPLIED PRIOR TO APPLIED PRIOR TO @ ’\%\ un)
MILLION COVER MILLION COVER - Sloa M\ |z
SECTION /7 SECTION /&Y & V%
SCALE: 1/2 FULL \5/ SCALE: 1/2 FULL \5/ .
(SEE JAMB SECTIONS FOR DETAIL NOT SHOWN) (SEE JAMB SECTIONS FOR DETAIL NOT SHOWN) G =
SHEET NO.
5 o b

~ |



—

DRAWN BY: CHECKED BY:
) 357 o FULLY LAMINATED,/GLUED - TEM # PART ITEM DESCRIPTION MANUFACTURER /NOTES e s
SEAM TYP : PARTS 1=2 02/01/02
_ ——1 1.378 r& 1A 2824/2826  |HEAD JAMB/STANDARD SILL (STRAIGHT MEMBER) DOUGLAS FIR j
i_. = L 1B 2824 HEAD JAMB (RADIAL MEMBER) DOUGLAS FIR (LAMINATED) x
0.676 \ / * { EJ} [ 0886 2A | 2806/2810/2878 | TOP_ RAIL/STILE/"MISSION” STILE (STRAIGHT MEMBER) | DOUGLAS FIR
/ 1.378 1.378 % 28 2806 TOP RAIL (RADIAL MEMBER) DOUGLAS FIR (LAMINATED) 5
L&‘\ { * 3 2808 BOTTOM RAIL DOUGLAS FIR
/ 4 2880 "MISSION” BOTTOM RAIL DOUGLAS FIR 3
}-— 2.712 —=f e 2176 4,4 5A 2834/2836  |HEAD/SIDE MOULDING (STRAIGHT MEMBER) DOUGLAS FIR 5
4449 — = 58 2834 HEAD MOULDING (RADIAL MEMBER) DOUGLAS FIR (LAMINATED) i
‘ TOP RAIL/STILE/"MISSION” STILE 6 2838 SILL _COVER DOUGLAS FIR z
HEAD JAMB/STD. SILL / / 7 2862 SILL BLOCK DOUGLAS FIR; 2 PER SILL §
' 8 4493 INTERIOR GLAZING STOP DOUGLAS FIR &
9 | 2856/2860/2888 |TOP RAIL/STILE/ "MISSION" STILE CLAD 6060-T5 ALUMINUM 5
2,126 —= 10 2858 BOTTOM RAIL CLAD 6060—T5 ALUMINUM
~— 2.126 ~—| 1 2886 "MISSION” BOTTOM RAIL CLAD 6060—T5 ALUMINUM
% 12 4930 JAMB_ CLAD 6060—T5 ALUMINUM Q .
% \/ 13 4940 APPLIED NAILING FIN STEEL (Fy = 50 ksi MIN.) S &
\ \/ 1.870 14 2950 EXTERIOR MULLION COVER 6060—T5 ALUMINUM Z| i«
BIEE NN 202 \ HARDWARE | =l a%g
\ — / - — @ <
% 083 §§§[ J 15 - 10" SCISSOR HINGE TRUTH HW: #14.75 z | g85¢
}_; 16 - DUAL ARM OPERATOR; MAXIM TRUTH HW: # 50-00 =| £, 33
— 1.3/8 | 1378 ’__, 17 _ SINGLE ARM OPERATOR TRUTH HW: # 15-94 § Gode
' 18 - 3 1/2" BUTT HINGE (S.9) DIVERSIFIED PRODUCTS OF CANADA|l O 5;009';
@ BOTTOM RAIL @ MISSION BOTTOM RAIL | D.P.0.C. # DP3535R14C32DN o| @523
19 - MAX. 4—POINT MIRAGE LOCK/KEEPER TRUTH. HW: KEEPER #11498 = 953“
o] =028 20 - SNUBBER TRUTH HW: #21642-92 2| aa g
. 2 Je O P
2196 —=| ‘-‘1-969“— SEALS & SEALANTS Sl N
‘ 21 - SASH WEATHER STRIP (VINYL) INTEK #50345 sl &
* =~ b oosr B 22 - FRAME_WEATHERSTRIP_(VINYL) INTEK #30508A :
0.492 0.748 1.378 R FASTENERS = |z
- 0.807 | 23 _ 1 3/4” 16 GA. STAPLE 6" FROM CORNER & 6 O.C. o =
: (35mm LENGTH) 24 - NO. 7 X 3/4" SCREW 4 PER HINGE INTO JAMB § 2 L 8
25 _ NO. 7 X 3/4" SCREW 3 PER OPERATOR TRACK & oo
@ HEAD/SIDE JAMB MOULDING @MQB @_S_LLL__BLQQ_K 76 _ NO. 7 X 3/4" SCREW 2 PER OPERATOR GUIDE BRACKET || @ | £< un
27 - NO. 7 X 3/4" SCREW 4 PER HINGE INTO SASH o| 2% 29
0.748 28 | _ NO. 7 X 3/4 SCREW 2 PER LOCK/KEEPER s | WY g0
— P"O'ZW 7 0.474 29 Z NO. 7 X 1/2" SCREW (NAIL FIN TO JAMB) 1" FROM CORNER & 6° 0.C S| «F &8,
—_— : L z | wd;cs
30 - NO. 6 X 3/4” SCREW 2 PER SNUBBER TO JAMB S| W3 Ee3
0591 — =l 0.049 31 - NO. 6 X 3/4" SCREW 2 PER SNUBBER TO SASH gﬁ m%é S
f 2.077 L 32 - NO. 6 X 1” SCREW AS REQ'D FOR MULTIPOINT LOCK |F |29 © 23
T L‘—O'474_ 2278 0.049 33 - NO. 8 X 3/4" SCREW 3 _PER HINGE INTO JAMB z 3% gy
INT. GLAZING STOP f I gy 34 - NO. 8 X 1" SCREW 3 PER HINGE INTO SASH g |5 ¢
e = 1= 0.285 K . » 35 . 1" BRAD | 1 PER BLOCK !
™ ' » W | HERN LAS FIR. o &
(9)I0P_RAIL/STILE CLAD  (10) BOT. RAIL CLAD SPECIES 10 BE APPLABLE WITH THESE WINGOWS 18 NN GAOE 3 oy o, 0" IR =N
1 CHERRY, MAPLE & CYPRUS. 5 S -lgE
| r«1 1909 ! F NOTE: ALL WOOD IS RECEIVED BY LOEWEN WINDOWS AS GRADE 2, BUT IS MACHINED g = %‘j\ Soh
| 1.378 1.457 BY LOEWEN TO A SELECT GRADE USE. | & Q:\ .
3.061 0.020 —=|=— PROBUCT REVISED v A BN i
* 0609 732 * _L — 0.197 : 3 complying with the Fleride @ g
—f=— 0.049 ' 0.039 Buiding Code g
. * —=}=—0.020 _ Ty r ano -042 .gz S
— 0.297 0.043 . -
i o o 1=} gl
"MISSION” RAIL_CLAD (12) ERAME_CLAD (13) NAILING FIN (14)_EXT. MULLION COVER Miam Dade Prodct Control S




